

Question # 1

Find the definition, the derivatives w.r.t 'x' of the following functions defined as:

(i) $2x^2 + 1$

(ii) $2 - \sqrt{x}$

(iii) $\frac{1}{\sqrt{x}}$

(iv) $\frac{1}{x^3}$

(v) $\frac{1}{x-a}$

(vi) $x(x-3)$

(vii) $\frac{2}{x^4}$

(viii) $(x+4)^{\frac{1}{3}}$

(ix) $x^{\frac{3}{2}}$

(x) $x^{5/2}$

(xi) $x^m, m \in \mathbb{N}$

(xii) $\frac{1}{x^m}, m \in \mathbb{N}$

(xiii) x^{40}

(xiv) x^{-100}

Solution

(i) Let $y = 2x^2 + 1$

$$\Rightarrow y + \delta y = 2(x + \delta x)^2 + 1 \quad \Rightarrow \delta y = 2(x + \delta x)^2 + 1 - y$$

$$\Rightarrow \delta y = 2(x^2 + 2x\delta x + \delta x^2) + 1 - 2x^2 - 1 \quad \because y = 2x^2 + 1$$

$$\Rightarrow \delta y = 2x^2 + 4x\delta x + 2\delta x^2 - 2x^2 \quad \Rightarrow \delta y = 4x\delta x + 2\delta x^2$$

$$\Rightarrow \delta y = 4x\delta x + 2\delta x^2 \\ = \delta x(4x + 2\delta x)$$

Dividing by δx

$$\frac{\delta y}{\delta x} = 4x + 2\delta x$$

Taking limit when $\delta x \rightarrow 0$

$$\lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} = \lim_{\delta x \rightarrow 0} (4x + 2\delta x)$$

$$\Rightarrow \frac{dy}{dx} = 4x + 2(0)$$

$$\Rightarrow \frac{dy}{dx} = 4x \quad \text{i.e.} \quad \boxed{\frac{d}{dx}(2x^2 + 1) = 4x}$$

(ii) Let $y = 2 - \sqrt{x}$

$$\Rightarrow y + \delta y = 2 - \sqrt{x + \delta x} \quad \Rightarrow \delta y = 2 - \sqrt{x + \delta x} - y$$

$$\Rightarrow \delta y = 2 - \sqrt{x + \delta x} - 2 + \sqrt{x} \quad \Rightarrow \delta y = \sqrt{x} - \sqrt{x + \delta x}$$

$$\Rightarrow \delta y = \sqrt{x} - \sqrt{x} \left(1 + \frac{\delta x}{x}\right)^{\frac{1}{2}}$$

$$\Rightarrow \delta y = \sqrt{x} - \sqrt{x} \left(1 + \frac{1}{2} \cdot \frac{\delta x}{x} + \frac{1}{2} \left(\frac{1}{2} - 1\right) \left(\frac{\delta x}{x}\right)^2 + \dots\right)$$

$$= x^{\frac{1}{2}} - x^{\frac{1}{2}} - x^{\frac{1}{2}} \left(\frac{\delta x}{2x} + \frac{\frac{1}{2}(-\frac{1}{2})}{2} \frac{\delta x^2}{x^2} + \dots \right)$$

$$= -x^{\frac{1}{2}} \delta x \left(\frac{1}{2x} - \frac{1}{8} \frac{\delta x}{x^2} + \dots \right)$$

Dividing by δx , we have

$$\frac{\delta y}{\delta x} = -x^{\frac{1}{2}} \left(\frac{1}{2x} - \frac{1}{8} \frac{\delta x}{x^2} + \dots \right)$$

Taking limit as

$$\lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} = -x^{\frac{1}{2}} \lim_{\delta x \rightarrow 0} \left(\frac{1}{2x} - \frac{1}{8} \frac{\delta x}{x^2} + \dots \right)$$

$$\Rightarrow \frac{dy}{dx} = -x^{\frac{1}{2}} \left(\frac{1}{2x} - 0 + 0 - \dots \right)$$

$$= -x^{\frac{1}{2}} \cdot \frac{1}{2x} = -\frac{1}{2} x^{\frac{1}{2}-1} \Rightarrow \boxed{\frac{dy}{dx} = -\frac{1}{2} x^{-\frac{1}{2}}}$$

(iii) Let $y = \frac{1}{\sqrt{x}} \Rightarrow y = x^{-\frac{1}{2}}$

Now do yourself as above

(iv) Let $y = \frac{1}{x^3} \Rightarrow y = x^{-3}$

$$\Rightarrow y + \delta y = (x + \delta x)^{-3}$$

$$\Rightarrow \delta y = (x + \delta x)^{-3} - x^{-3}$$

$$\Rightarrow \delta y = x^{-3} \left[\left(1 + \frac{\delta x}{x} \right)^{-3} - 1 \right]$$

$$= x^{-3} \left[\left(1 - \frac{3\delta x}{x} + \frac{-3(-3-1)}{2!} \left(\frac{\delta x}{x} \right)^2 + \dots \right) - 1 \right]$$

$$= x^{-3} \left[1 - \frac{3\delta x}{x} + \frac{-3(-4)}{2} \left(\frac{\delta x}{x} \right)^2 + \dots - 1 \right]$$

$$= x^{-3} \left[-\frac{3\delta x}{x} + \frac{-3(-4)}{2} \left(\frac{\delta x}{x} \right)^2 + \dots \right]$$

$$= x^{-3} \cdot \frac{\delta x}{x} \left[-3 + 6 \left(\frac{\delta x}{x} \right) - \dots \right]$$

Dividing both sides by δx , we get

$$\frac{\delta y}{\delta x} = x^{-3-1} \left[-3 + 6 \left(\frac{\delta x}{x} \right) - \dots \right]$$

Taking limit on both sides, we get

$$\lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} = \lim_{\delta x \rightarrow 0} x^{-4} \left[-3 + 6 \left(\frac{\delta x}{x} \right) - \dots \right]$$

$$\Rightarrow \frac{dy}{dx} = x^{-4} [-3 + 0 - 0 + \dots]$$

$$\Rightarrow \frac{dy}{dx} = -3x^{-4} \quad \text{or} \quad \boxed{\frac{dy}{dx} = -\frac{3}{x^4}}$$

(v) Let $y = \frac{1}{x-a}$

$$\Rightarrow y = (x-a)^{-1}$$

$$\Rightarrow y + \delta y = (x + \delta x - a)^{-1}$$

$$\Rightarrow \delta y = (x - a + \delta x)^{-1} - y$$

$$\Rightarrow \delta y = (x - a + \delta x)^{-1} - (x - a)^{-1}$$

$$= (x - a)^{-1} \left[\left(1 + \frac{\delta x}{x - a} \right)^{-1} - 1 \right]$$

$$= (x - a)^{-1} \left[\left(1 - \frac{\delta x}{x - a} + \frac{-1(-1-1)}{2!} \left(\frac{\delta x}{x - a} \right)^2 + \dots \right) - 1 \right]$$

$$\Rightarrow \delta y = (x - a)^{-1} \left[1 - \frac{\delta x}{x - a} + \frac{-1(-1-1)}{2!} \left(\frac{\delta x}{x - a} \right)^2 + \dots - 1 \right]$$

$$= (x - a)^{-1} \left[-\frac{\delta x}{x - a} + \frac{-1(-2)}{2} \left(\frac{\delta x}{x - a} \right)^2 + \dots \right]$$

$$= (x - a)^{-1} \cdot \frac{\delta x}{x - a} \left[-1 + \left(\frac{\delta x}{x - a} \right) - \dots \right]$$

Dividing by δx

$$\frac{\delta y}{\delta x} = (x - a)^{-1-1} \left[-1 + \left(\frac{\delta x}{x - a} \right) - \dots \right]$$

Taking limit when $\delta x \rightarrow 0$, we have

$$\lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} = \lim_{\delta x \rightarrow 0} (x - a)^{-1-1} \left[-1 + \left(\frac{\delta x}{x - a} \right) - \dots \right]$$

$$\Rightarrow \frac{dy}{dx} = (x - a)^{-2} [-1 + 0 - 0 + \dots] \quad \Rightarrow \quad \boxed{\frac{dy}{dx} = \frac{-1}{(x - a)^2}}$$

(vi) Let $y = x(x-3)$
 $= x^2 - 3x$

Do yourself

(vii) Let $y = \frac{2}{x^4} = 2x^{-4}$
 $\Rightarrow y + \delta y = 2(x + \delta x)^{-4}$

Do yourself

(viii) Let $y = (x+4)^{\frac{1}{3}}$

$$\Rightarrow y + \delta y = (x + \delta x + 4)^{\frac{1}{3}}$$

$$\Rightarrow \delta y = (x + \delta x + 4)^{\frac{1}{3}} - y$$

$$= (x + 4 + \delta x)^{\frac{1}{3}} - (x + 4)^{\frac{1}{3}}$$

$$= (x + 4)^{\frac{1}{3}} \left[\left(1 + \frac{\delta x}{x + 4} \right)^{\frac{1}{3}} - 1 \right]$$

$$= (x + 4)^{\frac{1}{3}} \left[\left(1 + \frac{1}{3} \frac{\delta x}{x + 4} + \frac{1}{3} \left(\frac{1}{3} - 1 \right) \left(\frac{\delta x}{x + 4} \right)^2 + \dots \right) - 1 \right]$$

$$= (x + 4)^{\frac{1}{3}} \left[\frac{\delta x}{3(x + 4)} + \frac{1}{3} \left(-\frac{2}{3} \right) \left(\frac{\delta x}{x + 4} \right)^2 + \dots \right]$$

$$= (x + 4)^{\frac{1}{3}} \cdot \frac{\delta x}{x + 4} \left[\frac{1}{3} - \frac{1}{9} \left(\frac{\delta x}{x + 4} \right) + \dots \right]$$

Dividing by δx

$$\frac{\delta y}{\delta x} = (x + 4)^{\frac{1}{3} - 1} \left[\frac{1}{3} - \frac{1}{9} \left(\frac{\delta x}{x + 4} \right) + \dots \right]$$

Taking limit when $\delta x \rightarrow 0$

$$\lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} = \lim_{\delta x \rightarrow 0} (x + 4)^{-\frac{2}{3}} \left[\frac{1}{3} - \frac{1}{9} \left(\frac{\delta x}{x + 4} \right) + \dots \right]$$

$$\Rightarrow \frac{dy}{dx} = (x + 4)^{-\frac{2}{3}} \left[\frac{1}{3} - 0 + 0 - \dots \right] \Rightarrow \boxed{\frac{dy}{dx} = \frac{1}{3} (x + 4)^{-\frac{2}{3}}}$$

(ix) Let $y = x^{\frac{3}{2}}$

$$\Rightarrow y + \delta y = (x + \delta x)^{\frac{3}{2}}$$

$$\begin{aligned}
\Rightarrow \delta y &= (x + \delta x)^{\frac{3}{2}} - x^{\frac{3}{2}} \\
&= x^{\frac{3}{2}} \left[\left(1 + \frac{\delta x}{x} \right)^{\frac{3}{2}} - 1 \right] \\
&= x^{\frac{3}{2}} \left[\left(1 + \frac{3 \delta x}{2x} + \frac{\frac{3}{2}(\frac{3}{2}-1)}{2!} \left(\frac{\delta x}{x} \right)^2 + \dots \right) - 1 \right] \\
&= x^{\frac{3}{2}} \left[\frac{3 \delta x}{2x} + \frac{\frac{3}{2}(\frac{1}{2})}{2} \left(\frac{\delta x}{x} \right)^2 + \dots \right] \\
&= x^{\frac{3}{2}} \cdot \frac{\delta x}{x} \left[\frac{3}{2} + \frac{3}{8} \left(\frac{\delta x}{x} \right) + \dots \right]
\end{aligned}$$

Dividing by δx

$$\frac{\delta y}{\delta x} = x^{\frac{3}{2}-1} \left[\frac{3}{2} + \frac{3}{8} \left(\frac{\delta x}{x} \right) + \dots \right]$$

Taking limit when $\delta x \rightarrow 0$

$$\begin{aligned}
\lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} &= \lim_{\delta x \rightarrow 0} x^{\frac{1}{2}} \left[\frac{3}{2} + \frac{3}{8} \left(\frac{\delta x}{x} \right) + \dots \right] \\
\Rightarrow \frac{dy}{dx} &= x^{\frac{1}{2}} \left[\frac{3}{2} - 0 + 0 - \dots \right] \quad \Rightarrow \quad \boxed{\frac{dy}{dx} = \frac{3}{2} x^{\frac{1}{2}}}
\end{aligned}$$

(x) Let $y = x^{5/2}$

Do yourself as above.

(xi) Let $y = x^m$

$$\begin{aligned}
\Rightarrow y + \delta y &= (x + \delta x)^m \\
\Rightarrow \delta y &= (x + \delta x)^m - x^m \\
&= x^m \left[\left(1 + \frac{\delta x}{x} \right)^m - 1 \right] \\
&= x^m \left[\left(1 + m \cdot \frac{\delta x}{x} + \frac{m(m-1)}{2!} \left(\frac{\delta x}{x} \right)^2 + \dots \right) - 1 \right] \\
&= x^m \left[\frac{m \delta x}{x} + \frac{m(m-1)}{2} \left(\frac{\delta x}{x} \right)^2 + \dots \right] \\
&= x^m \cdot \frac{\delta x}{x} \left[m + \frac{m(m-1)}{2} \left(\frac{\delta x}{x} \right) + \dots \right]
\end{aligned}$$

Dividing by δx

$$\frac{\delta y}{\delta x} = x^{m-1} \left[m + \frac{m(m-1)}{2} \left(\frac{\delta x}{x} \right) + \dots \right]$$

Taking limit when $\delta x \rightarrow 0$

$$\begin{aligned} \lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} &= \lim_{\delta x \rightarrow 0} x^{m-1} \left[m + \frac{m(m-1)}{2} \left(\frac{\delta x}{x} \right) + \dots \right] \\ \Rightarrow \frac{dy}{dx} &= x^{m-1} [m + 0 + 0 \dots] \Rightarrow \boxed{\frac{dy}{dx} = m x^{m-1}} \end{aligned}$$

(xii) Let $y = \frac{1}{x^m} = x^{-m}$

Do yourself as above, just change the m by $-m$ in above question.

(xiii) Let $y = x^{40}$

$$\begin{aligned} \Rightarrow y + \delta y &= (x + \delta x)^{40} \\ \Rightarrow \delta y &= (x + \delta x)^{40} - x^{40} \\ &= \left[\binom{40}{0} x^{40} + \binom{40}{1} x^{39} \delta x + \binom{40}{2} x^{38} \delta x^2 + \dots + \binom{40}{40} \delta x^{40} \right] - x^{40} \\ &= (1) x^{40} + \binom{40}{1} x^{39} \delta x + \binom{40}{2} x^{38} \delta x^2 + \dots + \binom{40}{40} \delta x^{40} - x^{40} \\ &= \binom{40}{1} x^{39} \delta x + \binom{40}{2} x^{38} \delta x^2 + \dots + \binom{40}{40} \delta x^{40} \end{aligned}$$

Dividing by δx

$$\frac{\delta y}{\delta x} = \binom{40}{1} x^{39} + \binom{40}{2} x^{38} \delta x + \dots + \binom{40}{40} \delta x^{39}$$

Taking limit as $\delta x \rightarrow 0$

$$\begin{aligned} \lim_{\delta x \rightarrow 0} \frac{\delta y}{\delta x} &= \lim_{\delta x \rightarrow 0} \left[\binom{40}{1} x^{39} + \binom{40}{2} x^{38} \delta x + \dots + \binom{40}{40} \delta x^{39} \right] \\ \frac{dy}{dx} &= \left[\binom{40}{1} x^{39} + 0 + 0 + \dots + 0 \right] \\ \Rightarrow \frac{dy}{dx} &= \binom{40}{1} x^{39} \quad \text{or} \quad \boxed{\frac{dy}{dx} = 40x^{39}} \end{aligned}$$

(xiv) Let $y = x^{-100}$

Do yourself Question # 1(xii), Replace m by -100 .

Question # 2

Find $\frac{dy}{dx}$ from the first principles if

(i) $\sqrt{x+2}$

(ii) $\frac{1}{\sqrt{x+a}}$

Solution

(i) Let $y = \sqrt{x+2} = (x+2)^{\frac{1}{2}}$

Now do yourself as Question # 1(ix)

(ii) Let $y = \frac{1}{\sqrt{x+a}} = (x+a)^{-\frac{1}{2}}$

Now do yourself as Question # 1 (ix)

Please report us error at www.mathcity.org/error

Error Analyst

Emad Ud Din (2017)

Book:

Exercise 2.1 (Page 50)

Text Book of Algebra and Trigonometry Class XII

Punjab Textbook Board, Lahore.

Available online at <http://www.MathCity.org> in PDF Format
(Picture format to view online).

Updated: November 11, 2017.



These resources are shared under the licence Attribution-NonCommercial-NoDerivatives 4.0 International

<https://creativecommons.org/licenses/by-nc-nd/4.0/>

Under this licence if you remix, transform, or build upon the material, you may not distribute the modified material.